PR Received dated 15 Aug 2016 - 21 Aug 2016

Offices Supplies & Consumble Parts

Post Dated 22 Aug_; 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
1 11606853 16-Aug-2016 CONZzZ21538 INSERT CNMG120408N-GU AC820P 20.00| PIECES SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 29-Aug-2016
2 11607068 19-Aug-2016 CONZzZz29723 PREFLEX BACK-UP ROLL COMPLETE SET DWG 532458 2.00 Set SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 29-Aug-2016
3 11606861 16-Aug-2016 CONZZ16724 |WASTE LABEL (HAZARDOUS) 800.00| Each MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 29-Aug-2016
4 11607262 19-Aug-2016 STA1004250 nsza & IMSULang1sAmIuAN  Controlled Coppy Paper 20.00 Each MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 29-Aug-2016
5 11606970 16-Aug-2016 STA2001125 AUTO BURETTE SIZE 50 ML. 1.00 Set MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 29-Aug-2016
6 11607010 19-Aug-2016 CONZz02678 LAMP TANGSTEN HALOGEN 220V 500W "PHILIPS" 20.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
7 11605523 17-Aug-2016 CONZZ05686 CABLE SIZE 4x2.5 sg.mm. TYPE NYY 300.00| Metres THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
8 11607115 19-Aug-2016 CONZZ05808 CABLE SIZE 3x1.5 SQMM. TYPE VCT 100.00| Metres THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
9 11606877 16-Aug-2016 CONZZz08923 LAMP HIGH PRESSURESODIUM 220V.400W.E40 (SON) PHILIP 12.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
10 11606878 16-Aug-2016 CONZZz08927 LAMP METAL HALIDE 220V 250W HPI-T250,E40(CYLINDE) ""PHILIPS"" 12.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
11 11607185 19-Aug-2016 CONZZ09525 FREON REFRIGERANT R-22 165.00( Kilograms THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
12 11607049 19-Aug-2016 CONZZ12230 |POWER MALE PLUGS IP44.32A2P+E 220V(H-01-04)21013 5.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
13 11606869 16-Aug-2016 CONZZz14667 IGNATOR TYPE SN58 FOR LAMP HIGH PRESSURE 10.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
14 11606860 16-Aug-2016 CONZZ16883 CABLE TIES CT 525-8.8 LONG=525MM (21") 200.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
15 11600500 19-Aug-2016 CONZZz26356 SEAL CR#7920 TYPE#CRW1R DIA.20x36x7 mm. FOR PREFLEX ROLL 8.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
16 11607084 16-Aug-2016 CONZZ26366 JUNCTION BOX PLASTIC  SIZE 145x145x80 MM 30.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
17 11607084 16-Aug-2016 CONZZz31891 ELECTRICAL PLASTIC BOX SIZE 2x4" uwuusuthdishila 30.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
18 11607208 19-Aug-2016 STA2000945 uuepaiue 45 AM 12V 1.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 29-Aug-2016
19 11607053 18-Aug-2016 CONZZz09446 WIPER BLADE(REAR) P/N IT6000018 FOR FANTUZZI 1.00 Set JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
20 11606135 16-Aug-2016 CONZZ18429 DYE PENETRANT 12.00 Can JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
21 11605871 16-Aug-2016 CONZZ18431 DYE PENETRANTS CLEANER/REMOVER 12.00 Can JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
22 11607229 19-Aug-2016 CONZZ18449 OVERLAP SEALS (UNCOATED) MODEL: 32 mm (1000PCS/BOX) 100,000.00| PIECES JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
23 11600172 15-Aug-2016 CONZZ19149 WASHER P/N.415692 FOR KRESS 1.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
24 11600172 15-Aug-2016 CONZZ19150 WASHER P/N.415691 FOR KRESS 1.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
25 11606856 16-Aug-2016 CONZZz19379 FOLDING CHART NO.B9565AW-KC SCALE 0-100 "YOKOGAWA" 1,000.00 Roll JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
26 11606490 19-Aug-2016 CONZzZz20174 TIRE (FRONT) SIZE 28x9-15/7.00 FOR KOMATSU FORKLIFT MODEL FD30T-16 2.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
27 11606490 19-Aug-2016 CONZZz20175 TIRE (REAR) SIZE 6.50-10/5.00 FOR KOMATSU FORKLIFT MODEL FD30T-16 2.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
28 11607038 19-Aug-2016 CONZzz21241 COPPER GASKET ID=55, OD=105, TH.=4.5 MM. 5.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
29 11606848 16-Aug-2016 CONZZ25396 OVERLAP ZINC SIZE 32 MM. 10,000.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
30 11606847 16-Aug-2016 CONZZz27864 STICKER PACKING FOR EXPORT SIZE 7.8CMx19.8CM 5,000.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
31 11606925 16-Aug-2016 CONZZ30659 OVERLAP ZINC SIZE 19 MM. 14,000.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 29-Aug-2016
32 11607022 18-Aug-2016 CONAZ00004 KEROSENE OIL(BLUE) ihsfuda 100.00 Pip CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016

Page 1 of 5




PR Received dated 15 Aug 2016 - 21 Aug 2016

Offices Supplies & Consumble Parts

Post Dated 22 Aug_; 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
33 11607013 | 19-Aug-2016 | CONZZ05695 |ACID (insa) FOR VEHICLE 72.00| Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
34 11603693 | 16-Aug-2016 | CONZZ05938 |ABRASIVE PAPER #220  (WATER PROOF) 100.00{ SHEET CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
35 11607024 | 16-Aug-2016 | CONZZ06152 |GRINDING WHEELS TYPE 27 SPEC A 24 R SIZE 100x6x16 mm. "SSM" 75.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
36 11606904 | 16-Aug-2016 | CONZZ06410 |ZE-NOX DEGREASE&CLEANER B19, 20 OZ/CN 5.00| Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
37 11607214 | 19-Aug-2016 | CONZZ06420 |CUTOFF WHEELS TYPE 41 SPEC A 36 P SIZE 100x2x16 mm. "SSM" 150.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
38 11606092 | 19-Aug-2016 | CONZZ06424 |DISTILLED WATER 48.00| Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
39 11606803 | 16-Aug-2016 | CONZZ06434 |ENAMEL PAINT GRAY"PRIMER"(3.785 LT.) 24.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
40 11606791 | 18-Aug-2016 | CONZZ06473 |LIQUID GASKET TREEBOND 1104 200 G. 5.00| TUBE CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
41 11607199 | 18-Aug-2016 | CONZZ06497 |WELDING ELECTRODE L-55 DIA.3.2 mm. 40.00| Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
42 11606903 | 16-Aug-2016 | CONZZ09185 |GLUE PVC 1/2 LT 1.00| cCan CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
43 11607131 | 16-Aug-2016 | CONZZ11794 |TINNER AAA (12 LT) 100.00|  Pail CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
44 11606870 | 16-Aug-2016 | CONZZ14563 |BLIND RIVET CODE 5-6  SIZE 5/32"-1/2" 1.00| box CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
45 11607085 | 16-Aug-2016 | CONZZ15087 |WOOD 6"x1"x5 MT 2.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
46 11607128 | 16-Aug-2016 | CONZZ18507 |BRONZE PAINT No.222 &usaufiia BEN-TONE (U5m1@s 3.5 &ms) 28.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
47 11607064 | 19-Aug-2016 | CONZZ29095 |findumwawmas EPICON FINISH RAL 5015 TOA 10.00|  Set CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
48 11607079 | 19-Aug-2016 | CONZZ31472 |SILVER GRADE ANTI-SEIZE LUBRICATION LOCTITE P/N 76764 1.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
49 11607156 18-Aug-2016 CONZZ31966 dasvnauuuduau was 120 aune 25x25x6 MM.(1"x1"x6 MM.) (10 gn/naav) 1.00 box CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
50 11607002 | 16-Aug-2016 | STA4006739 iﬁ;’g‘;sf“f”i’?';}g“mﬁgﬁﬁ CHUGOKU (A+B) GREY CS-711 PRODUCT NO.5400 16.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
51 11607002 | 16-Aug-2016 STA4006740 i;ﬁfg‘;‘f”&fé‘/giigﬁm CHUGOKU (A+B) SILVER PRODUCT NO.6147C 6.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
52 11606997 | 16-Aug-2016 STA4006757 |DRAGA EPOXY Il (amfin wand 1) (4KG./CAN) 3.00| Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
53 11607087 16-Aug-2016 STA9999999 Plug 3 2nviueny  "Haloshi" 30.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 29-Aug-2016
54 11606782 | 15-Aug-2016 | CONZZ06089 |ELECTRICAL PLASTIC BOX SIZE 2x4" 15.00| Each SRIRITTHIDET, MR. PANUMAS BKK panumass@ssi-steel.com INCOMPLETE 29-Aug-2016
55 11606760 | 15-Aug-2016 STA2000004  |NAME CARD Al wuy 2 & 100.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 29-Aug-2016
56 11607187 | 18-Aug-2016 | CONAZ05930 |[MILLING COOLLANT ""CASTROL"" COOLEDGE OIL BI 1.00|  Pail SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 29-Aug-2016
57 11607052 | 18-Aug-2016 | CONZZ09296 |BATTERY 12V-150AH P/N.2010.834501 FOR FANTUZZI 5.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 29-Aug-2016
58 11606874 | 18-Aug-2016 | CONZZ11895 |ELECTRIC HORN SUPER TONE SYK MODEL 0001 24V. FOR FANTUZZI 6.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 29-Aug-2016
59 11606867 | 18-Aug-2016 | CONZZ14926 xﬁtﬁ (OAFIF;I\;:EL\F/ENET)SZE;SION HOSE) P/N.29820172 FOR CONNECT WITH 5.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 29-Aug-2016
60 11604817 | 18-Aug-2016 | CONZZ18154 |FLASHER RELAY ELECTRONIC 24V-130 C/M FOR FANTUZZI 4.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 29-Aug-2016
61 11606859 | 18-Aug-2016 | CONZZ18154 |FLASHER RELAY ELECTRONIC 24V-130 C/M FOR FANTUZZI 3.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 29-Aug-2016
62 11604133 | 18-Aug-2016 | CONZZ20680 |MIRROR P/N 2664.905003 FOR FANTUZZI 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 29-Aug-2016
63 11606844 | 16-Aug-2016 | CONZZ28539 |JOBBER DRILLS (HSS) DIN 338 DIA.4x75 MM TYPE N 10.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 29-Aug-2016
64 11606843 | 18-Aug-2016 | CONZZ28785 |LEFT TAIL LIGHT 24V.JCM " P/N 2037.714504 FOR FANTUZZI 4.00|  set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 29-Aug-2016

Page 2 of 5




PR Received dated 15 Aug 2016 - 21 Aug 2016

Offices Supplies & Consumble Parts

Post Dated 22 Aug_; 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
65 11607075 16-Aug-2016 CONAZ00003 [COTTON RAGS DIM.18x18 CM. WEIGHT 1KG.=17fiu (25 KGS./BAG) 875.00| Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
66 11607215 19-Aug-2016 CONZZ05925 |OXYGEN PURITY 99.5% (&asiaefi Ju,uflau,d wnesau efosavine laidu 5 1) 59.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
67 11607051 16-Aug-2016 CONZZz09232 [COTTON GLOVE 5,000.00| PAIR PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
68 11603823 16-Aug-2016 CONZZ10612 |NITROGEN GAS (N2) (dusasfi Ju,uflau,@ wnesau efoxavie laitdu 5 1) 2.00| CYLINDER PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
69 11606876 16-Aug-2016 CONZZ10612 |NITROGEN GAS (N2) (dusiaefi Ju,uflau,@ wnesau efoxavine laitdu 5 1) 2.00| CYLINDER PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
70 11606117 16-Aug-2016 CONZZz18501 |RUBBER GLOVE PVC SIZE:LL #1330 CM (TOWA 656) 300.00[ PAIR PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
71 11606916 16-Aug-2016 CONZZ30506 |qofiagnewid @17 350 wn. awe 7" PD-WSGP736 10.00| PAIR PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
72 11606917 16-Aug-2016 CONZZz30511 |wedinvian "Tis" (25 KG/BOX) 200.00| Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
73 11606918 16-Aug-2016 CONZZ30512 [tihenaeviasin (VIGSAL) zwne 900 ML. 24.00( Bottle PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
74 11606919 16-Aug-2016 CONZzZ30515 [ligfiu wuundususnagdide 12.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
75 11606921 15-Aug-2016 CONZzZz30522 avuugRFIaUe  24"x28" 50.00| Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
76 11607259 19-Aug-2016 STA1004284  |TONER FOR RICOH SP 4310n 1.00[  box PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
77 11606943 16-Aug-2016 STA2000004  |NAME CARD W wuy 2 & 100.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
78 11607252 19-Aug-2016 STA2000004  |NAME CARD AW wuy 2 & 400.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
79 11606995 16-Aug-2016 STA2000666  |udavdiagau NILON 12.00| PIECES PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
80 11606995 16-Aug-2016 STA3000057 |&dan-lusn wisednloguioed ufiasuen 12.00|  box PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
81 11607178 19-Aug-2016 STA4000218  |FACE SHIELD VISAGOM  Tasenszdionn+nseiioniin 3.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
82 11607104 16-Aug-2016 STA4006723  |&e$amg (Chine strap W/Slip lock) 300.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
83 11607106 16-Aug-2016 STA4006723 axunsavlasunassiail su 7007K 3M 20.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
84 11607106 16-Aug-2016 STA4006723  |adunsavlasumaasiadl u 70015-100 3M 20.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
85 11607106 16-Aug-2016 STA4006723  |uwunsavaunim (PARTICULATE FILTER) su 7711 50.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
86 11607106 16-Aug-2016 STA4006723  |ehmsaumdunsadasiail su 774 40.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
87 11607111 16-Aug-2016 STA4006723 |d&namidue Ear Plug 200.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
88 11607111 16-Aug-2016 STA4006723  |Foam Ear Plug Refill 100.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
89 11606958 15-Aug-2016 STA8888888 anuaafiumihdudmdas (Ball Smiley) 200.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 29-Aug-2016
90 11606088 19-Aug-2016 CONZZz01691  [WIRE NET WxL= 1.20x30 mt (HOLE MESH 2x2 cm) 2.00| Roll SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
91 11606787 18-Aug-2016 CONZZ04933  [BOLT HEX.HEAD(CLASS 10.9)M20-2.5x80 mm. 20.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
92 11605923 16-Aug-2016 CONZZz05731  |U-BOLT WITH NUT DIA.1 1/2" (GALV.) FOR VEHICLE 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
93 11604702 16-Aug-2016 CONZZ05809 [SOCKET HEAD CAP SCREW M16-2x70 mm.(CLASS 12.9) 20.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
94 11606784 16-Aug-2016 CONZZz06313 Eﬁk}fﬁgoﬁogo?rflgggmg';_I;EHILIPS"""" TYPE BHLE 400 L 200 TS FOR 10.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
95 11606795 16-Aug-2016 CONZZz06385 [BOLT&NUT HEX.(STAINLESS) M12-1.75x40 mm. FOR VEHICLE 20.00  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
96 11607009 19-Aug-2016 CONZZ06684 [STAINLESS STEEL TUBE DIA.8x1.5 MM x L=6 mts. (SEAMLESS) 18.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016

Page 3 of 5




PR Received dated 15 Aug 2016 - 21 Aug 2016

Offices Supplies & Consumble Parts

Post Dated 22 Aug_; 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
97 11606800 16-Aug-2016 CONZz06701 U-BOLT WITH NUT DIA.1/2" (GALV.) 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
98 11606274 18-Aug-2016 CONZZz06743 FLAT WASHER (STEEL BLACK)M6 30.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
99 11604712 16-Aug-2016 CONZZ06744 FLAT WASHER M8 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
100 11604121 18-Aug-2016 CONZZ06769 BOLT&NUT HEX.HEAD M8-1.25x20 mm.#CLASS 8.8 50.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
101 11607015 18-Aug-2016 CONZZ06769 BOLT&NUT HEX.HEAD M8-1.25x20 mm.#CLASS 8.8 50.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
102 11603584 19-Aug-2016 CONzz06771 BOLT&NUT HEX.HEAD M8-1.25x40 mm.(CLASS 8.8) FOR VEHICLE 110.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
103 11605597 16-Aug-2016 CONZZz06772 BOLT&NUT HEX.HEAD M8-1.25x50 mm.(CLASS 8.8) FOR VEHICLE 30.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
104 11604277 16-Aug-2016 CONZZz06785 BOLT HEX.HEAD(CLASS 8.8) M12-1.75x30 mm. 352.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
105 11603699 16-Aug-2016 CONZz07263 U-BOLT WITH NUT DIA.2" (GALV.) 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
106 11606801 16-Aug-2016 CONZZz08013 BOLT HEX.HEAD(CLASS 8.8) M20-2.5x60 mm.(DRILL HEAD 3MM.) 55.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
107 11606388 18-Aug-2016 CONZz08116 SOCKET HEAD CAP SCREW M16-2.0x40 mm. FOR SKM#1,2 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
108 11604739 18-Aug-2016 CONZZz08149 SPRING WASHER M20 200.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
109 11607000 18-Aug-2016 CONZZ08588 H-BEAM(STEEL)JIS G3192 DIM.100x100x8 mm.L=6MT 1.00( PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
110 11605858 16-Aug-2016 CONZZz09709 BOLT HEX.HEAD M16-2x70 mm.#CLASS 10.9 140.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
111 11606875 16-Aug-2016 CONZZ11966 EXPANSION BOLT(ANCHORS) M16x96 mm.(M20080) 60.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
112 11605853 16-Aug-2016 CONZZ13051 BALL VALVE 1/2" #STAINLESS WP 400 PSI. ( END THREADED ) "KITZ" 7.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
113 11605971 16-Aug-2016 CONzZz13051 BALL VALVE 1/2" #STAINLESS WP 400 PSI. ( END THREADED ) "KITZ" 5.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
114 11606873 16-Aug-2016 CONZzZz13051 BALL VALVE 1/2" #STAINLESS WP 400 PSI. ( END THREADED ) "KITZ" 6.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
115 11606871 16-Aug-2016 CONZzZz13824 hIEF&.BEé\\//\éAEEQ%ig;EFILTER U 50 SIZE 2x20M FOR VENTILATION ROOM 20.00( Metres SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
116 11606868 18-Aug-2016 CONZZz14730 FLAT HEAD HEX.SOCKET M8-1.25x20MM (CLASS 8.8) FOR PAY OFF SKM#1,2 300.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
117 11603821 19-Aug-2016 CONZZ14890 ANCHORS SCREW PLASTIC #M7(EXPANSION BOLT PLASTIC) 140.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
118 11606996 16-Aug-2016 CONZZ14948 STAINLESS STEEL PIPE DIA.1 1/2"SCH160 SUS304#SMLS 1.00( PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
119 11606865 18-Aug-2016 CONZZz15036 NUT HEX.HEAD 3/8"-16 UNC FOR VEHICLE 30.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
120 11607045 18-Aug-2016 CONZZ16415 NUT HEX.HEAD (CLASS 8.8) M8-P.1.25 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
121 11606862 16-Aug-2016 CONZZz16421 U-BOLT WITH NUT,WASHER DIA.2" END THREAD M12 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
122 11607044 19-Aug-2016 CONZZ16878 FLAT WASHER M10 (STAINLESS) 80.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
123 11607040 18-Aug-2016 CONZZ19159 B(I-)igIL—JgIEI\i(G Hg?[;}(;\::r%SZSZIIO.Q)W16"-14 UNC x'1 1/4" LG FOR TRANSMISSION 15.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
124 11607039 18-Aug-2016 CONZZ19553 ZX;IEEX'HEAD >/8"-18G FOR FIX HEAD  LIGHT FOR FANTUZZI & SLAB 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
125 11606854 16-Aug-2016 CONZZ21136 I\S4OO€I:'}(<)${TRHUEI\'IM(D)L(J:1"A'PF§I§LFI{EEW M10-1.5x30 MM.(MAT. STAINLESS) FOR 180.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
126 11607000 18-Aug-2016 CONZZ21546 |H-BEAM(STEEL)JIS G3192 DIM.175x175x7.5x11mm.xL=6 2.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
127 11606522 16-Aug-2016 CONZzZz21627 EXPANSION BOLT M8x65 MM 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
128 11606852 16-Aug-2016 CONzz21771  |COPPER GASKET 1D:30.5,0D:33,TH:2 MM FOR GR10,14,16 ZONE 1-4,6 270.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016

FURNACE 1 ,2

Page 4 of 5




PR Received dated 15 Aug 2016 - 21 Aug 2016

Offices Supplies & Consumble Parts

Post Dated 22 Aug_; 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
129 | 11606851 | 16-Aug-2016 | CONZZ23304 |EXTERNAL RETAINING RING DIA.220 MM 2.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
130 | 11607036 | 19-Aug-2016 | CONZZ24025 |PIPE CLAMPS ALUMINIUM (HEVY SERIES) FOR PIPE OD.168 MM. (6") 2.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
131 11606849 | 16-Aug-2016 | CONZZ24613 |COPPER GASKET ID:10 OD:20 THImm FOR GR4(1) ZONE 5 FURNACE 1 ,2 120.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
132 | 11606850 | 16-Aug-2016 | CONZZ24618 |COPPER GASKET ID=26, OD=36,TH.=1.5 MM. FOR GR4 (2) FURNACE 1,2 160.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
133 | 11604792 | 16-Aug-2016 | CONZZ26356 |SEAL CR#7920 TYPE#CRW1R DIA.20x36x7 mm. FOR PREFLEX ROLL 12.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
134 | 11604793 | 16-Aug-2016 | CONZZ26357 |V-RING CR#400204 TYPE#VR1(20mm) FOR PREFLEX ROLL 12.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
135 | 11604794 | 16-Aug-2016 | CONZZ26358 [LOCKNUT # ANO2 M15x1 PART NO.510311/28 FOR PREFLEX ROLL 10.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
136 | 11607127 | 19-Aug-2016 | CONZZ28358 |WASHERS(STAINLESS STEEL) M12 FOR WET SECTION 100.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
137 | 11607137 | 19-Aug-2016 | CONZZ28984 |BOLT&NUT HEX.STAINL.ST.A4 55010 M12-1.75x80MM. FOR PIPE LINE ARP 16.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
138 | 11606907 | 16-Aug-2016 | CONZZ28987 |BOLT&NUT HEX.STAINL.ST.A4 55010 M16-2 x 80 MM. 16.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
139 | 11603167 | 16-Aug-2016 | CONZZ28990 |BOLT&NUT HEX.STAINL.ST.A4 55010 M12-1.75x70MM. FOR PIPE LINE ARP 16.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
140 | 11607059 | 19-Aug-2016 | CONZZz28993 ;If;gl'\'l(s;:'i::'TEFRE‘;EBESZ'ZOE'\)"K'MR(DIM'130X109X8'1 mm.)TYPE B-0152- 8.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
141 11607060 | 19-Aug-2016 | CONZZz28996 8;3R=IT§C().IE><=1220?<'13.);5 n: m”?;“[)M[/z"TA.:'T\gET_?N] +2 BACK UP RING 9.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
142 | 11606969 | 16-Aug-2016 | CONZZ29091 |FLANGE UPVC SIZE 2" ANSI 150 TIP-SOCKET FLANG 10.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
143 | 11606934 | 16-Aug-2016 | CONZZ29176 |CHECK VALVE UPVC BALL TYPE SINGLE UNION DN20 ( 3/4" ) 5.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
144 | 11607065 | 18-Aug-2016 | CONZzZz29205 g;ﬁ#‘ (I)'\;SFEAR,\ITTS;%( NUT M10-1.25 (P/N.2900.080.0008) FOR PROPELLER 20.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
145 | 11606411 | 18-Aug-2016 | CONZZ29268 zgﬁiEszHEX'HEAD CAP SCREW M16-2x45 MM #12.9 FOR PAY OFF 10.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
146 | 11606909 | 18-Aug-2016 | CONZZ29268 ggﬁ‘;EITZHEX'HEAD CAP SCREW M16-2x45 MM #12.9 FOR PAY OFF 10.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
147 | 11607086 | 16-Aug-2016 | CONZZ30624 |U-BOLT (STAINLESS) WITH NUT DIA 1-1/2"" 30.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
148 11607184 | 19-Aug-2016 CONZZ31330 ﬁ:ﬁ?igz\iA"VE (31aqn#s) PACIFIC 134a FOR AIR CONDITION SYSTEM OF 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
149 | 11606930 | 18-Aug-2016 | CONZZ31414 TD'JVRGEQDMFSDPE(}();/___BZG';'\;,%TSlAENSI/ ASME B1.20.1 MAT:SUS304 SCH.40#SEAM 5.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
150 | 11606934 | 16-Aug-2016 | CONZZ31603 |BALL VALVE DN 15 (1/2") UPVC 10.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
151 11606934 | 16-Aug-2016 | CONZZ31604 |BALL VALVE DN 20 (3/4") UPVC 10.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
152 | 11606969 | 16-Aug-2016 | CONZZz31937 |PIPE UPVC SIZE 2" SCH.80 L= 4 M. 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
153 | 11606969 | 16-Aug-2016 | CONZZ31938 |ELBOW 90 UPVC (SLIPXSLIP) SIZE 2" SCH.80 15.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
154 | 11606969 | 16-Aug-2016 | CONZZ31939 |COUPLING UPVC (SLIP X SLIP) SIZE 2" SCH.80 10.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016
155 | 11607090 | 16-Aug-2016 STA4006745  |SELF DRILLING SCREW HEX.FLANGE SIZE NO.#12x24G, L=100 MM. 18.00|  box SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 29-Aug-2016

Page 5 of 5




